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QUESTION 1

What was a serious drawback in the early development of networks?
A. computers being dedicated to one function

B. computers were too complicated to be connected

C. the low speed of the network

D. vendors developing their own network communication protocols

Correct Answer: D

QUESTION 2

What does \\'loosely coupled\\' mean?

A. An object implementing only a single method or function.

B. The application from one organization can use the service of another organization.
C. The services in the cloud can be ordered when needed.

D. The thin clients can be disconnected anytime.

Correct Answer: B

QUESTION 3

What is the purpose of a load balancer?

A. To distribute and balance the load when provisioning/de-provisioning
B. To spread the load of applications over the day

C. To make sure that each network request has exactly one response
D. To generate load on a test server

Correct Answer: A

QUESTION 4

One of the limitations concerns of Cloud computing is uncertainty about where your data is stored in conjunction with
varying national and international legislation on data protection.

Which issue does this raise?
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A. Availability

B. Confidentiality
C. Integrity

D. Security

Correct Answer: B

QUESTION 5

What may be a primary driver for a start-up company to move into the Cloud?
A. Lower operational support costs

B. Lower operational expenditures (Opex)

C. Much longer use of Cloud solutions

D. Much shorter implementation time of the infrastructure

Correct Answer: D
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